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QUESTION 1

A Storage Administrator is provisioning storage from a VNX array to a Windows 2003 host.
Which best practice should be considered to ensure maximum performance?

A. Align the user data on LUNs on a 1024kB boundary with Diskpart

B. Align the user data on LUNs on a 1024kB boundary using the VNX Alignment Offset

C. Set the cache page size to 4kB for mixed environments

D. Set the cache page size to 16kB for mixed environments

Correct Answer: A

QUESTION 2

You are migrating a LUN within a VNX series array to an equal size LUN but with a different RAID type.
Which step is required to start using the new LUN?

A. Nothing. The migration process is non-disruptive.

B. Ensure the LUN is in the proper storage group at the time of cut-over

C. Ensure the size of the destination LUN is equal to or greater than the source LUN

D. Quiesce the host prior to final cut-over

Correct Answer: A

QUESTION 3

What is the preferred method for partitioning VNX FC LUNs attached to a Windows Server 2008 R2 host?
A. Disk Management

B. format

C. fdisk

D. vtoc

Correct Answer: A

QUESTION 4

In a VNX series array, how does FAST manage data in a heterogeneous storage pool?
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A. It relocates more active data to faster drives and less active data to slower drives.

B. It relocates more active data from tier 1 storage without users noticing the difference.
C. It acts as an application accelerator and relocates LUNs based on performance.

D. It relocates LUNs from one tier to another to improve performance.

Correct Answer: A

QUESTION 5

Which Linux kernel supports dynamic LUN scanning?
A.23

B.2.4

C.25

D.2.6

Correct Answer: D
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